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Solvation free energy 4w in the unit of kcal/mol .2

thermodynamic state
sol ute
1.0gcen?, 250 1.0 g/en?, 400 O 0.6 g/cn?, 400 O 0.2 g/cn, 400 O
methane 3.0+0.2/ 2.8 9.4+0.1/ 10.7 31/28 0.6/06
ethane 2.6£0.3/ 1.9 11.3+0.1/13.2 3.2+0.1/ 2.8 0.6/05

water -8.2+0.7 / -6.9£0.7 -1.5+04/-0.7¢0.3  -3.3x0.2/-3.1x01 -24+0.2/-2.3+0.2

methanol -4.4+0.5/ -3.9£1.3 4.5+0.4 1 6.0£0.3 -0.6+0.3/-0.8£0.1 -1.2+0.1/-1.3+0.1

ethanol -4.4+0.4 / -3.0£1.2 8.0£0.3/ 10.9+0.3 0.4+0.1/ 0.0x0.2 -0.9+0.1/-1.0+0.1
Na* -96.0£1.9/-100.5+0.7 -85.9+0.9/-90.2+0.1 -80.2+0.7 / -83.1+0.3 -67.5+0.9/ -74.5+0.6
Cld -69.3+1.6 / -64.2+1.4 -54.0+0.9/-51.5+0.3 -53.9+0.6 / -54.4+0.2 -45.5+0.9/-46.7+0.4
NaCl -82.9+1.8/-78.6x1.3 -61.4+0.9/-59.7+0.4 -58.7+0.9/-59.1+0.4 -47.5+1.2/-50.5+0.4

3 Each du is expressed in the form of (approximate value) / (exact value). The error is given at
95% confidence level, and is smaller than 0.1 kcal/mol when not shown.





